

$$A \times 2B = \begin{vmatrix} 2 & -1 & 0 \\ 6 & 2 & -22 \end{vmatrix}$$

$$i(-1 \cdot 0 - (-j)2) + j(2 \cdot 0 - 6) + k(2 \cdot -1 - 12)$$

$$i(-1 \cdot 0 - (-j)2) + j(2 \cdot 0 - 6) + k(2 \cdot -1 - 12)$$

$$22i + 44j + 10k$$

$$(SA \times B) \cdot (A \times 2B) =$$

$$(33i + 166j + 15k) \cdot (22i + 44j + 10k)$$

$$726 + 2904 + 150$$

$$= \underline{\underline{3580}}$$

$$v) A - 2B - C$$

$$= 2i - j - 2B = 6i + 2j - 22k \quad C = 4i + 4j - 5k$$

$$= (2i - j) - (6i + 2j - 22k) - (4i + 4j - 5k)$$

$$= 2i - j - 6i - 2j + 22k - 4i - 4j + 5k$$

$$= 2i - 6i - 4i - j - 4j + 22k + 5k$$

$$= -8i - 7j + 27k$$

Perpendicular vectors are vectors that ~~where~~

~~A.B~~ This dot product equals zero e.g. $a \cdot b = 0$

coplanar vectors are three vectors that their

dot and vector product equals zero e.g. $A \cdot (B \times C) = 0$

DRE-0110 TIMOTHY, Mat 102
10/FNAG06/045 Mechanical

$$A = 2i - j \quad B = 8i + j - 11k \quad C = 4i + 4j - 5k$$

$$1) -3A + 2B - 8C$$

$$\begin{aligned} & -3(2i - j) + 2(8i + j - 11k) - 8(4i + 4j - 5k) \\ & = -6i + 3j + 16i + 2j - 22k - 32i - 32j + 40k \\ & = -17i - 22j - 37k \end{aligned}$$

$$2) k = 2A + 4B - C$$

$$\begin{aligned} & 2(2i - j) + 4(8i + j - 11k) - (4i + 4j - 5k) \\ & = 4i - 2j + 12i + 4j - 44k - 4i - 4j + 5k \\ & = 12i - 2j - 39k \end{aligned}$$

$$k = 12i - 2j - 39k$$

$$\begin{aligned} |k| &= \sqrt{(12)^2 + (-2)^2 + (-39)^2} \\ &= \sqrt{144 + 4 + 1521} \end{aligned}$$

$$|k| = \sqrt{1669}$$

$$|k| = 40.9$$

$$l = \cos \alpha = \frac{12}{40.9}$$

$$m = \cos \beta = \frac{-2}{40.9}$$

$$n = \cos \gamma = \frac{-39}{40.9}$$

(10) $A \times (B \times C)$

$$B \times C = \begin{vmatrix} 3 & i & -1 \\ 4 & 4 & -5 \end{vmatrix}$$

$$i \begin{vmatrix} 3 & -1 \\ 4 & -5 \end{vmatrix} + j \begin{vmatrix} 3 & -1 \\ 4 & -5 \end{vmatrix} + k \begin{vmatrix} 3 & 1 \\ 4 & 4 \end{vmatrix}$$

$$i[(3 \times -5) - (4 \times -1)] + j[(3 \times -5) - (4 \times -1)] + k[(3 \times 4) - (4 \times 1)]$$

$$i(-5 - (-4)) - j(-5 - 4) + k(12 - 4)$$

$$39i - 29j + 8k$$

$$A \times (B \times C) = \begin{vmatrix} 2 & -1 & 0 \\ 39 & -29 & 8 \end{vmatrix}$$

$$i \begin{vmatrix} -1 & 0 \\ 39 & 8 \end{vmatrix} - j \begin{vmatrix} 2 & 0 \\ 39 & 8 \end{vmatrix} + k \begin{vmatrix} 2 & -1 \\ 39 & -29 \end{vmatrix}$$

$$i(-1 \times 8 - 0 \times 39) - j(2 \times 8 - 0 \times 39) + k(2 \times -29 - (-1 \times 39))$$

$$i(-8) - j(16) + k(-19)$$

$$-8i - 16j - 19k$$

(11) $(3A \times B) \cdot (A \times 2B)$

$$3A = 6i + 3j$$

$$2B = 6i + 2j - 22k$$

$$3A \times B = \begin{vmatrix} 6 & 3 & 0 \\ 3 & 1 & -11 \end{vmatrix}$$

$$i \begin{vmatrix} 3 & 0 \\ 1 & -11 \end{vmatrix} + j \begin{vmatrix} 6 & 0 \\ 3 & -11 \end{vmatrix} + k \begin{vmatrix} 6 & 3 \\ 3 & 1 \end{vmatrix}$$

$$i(-3 \times 11 - 0 \times -1) + j(6 \times -11 - 0 \times 3) + k(6 \times 1 - 3 \times 1)$$

$$33i + 66j + 15k$$